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Passage:

The factor of geographical distribution is equally, possibly even more, significant that English is spoken as first or native
language in at least four continents of the world, Russian in two, Chinese and the Indian language in one. English is without
question the closest approach to a world language today. It goes without saying that no two persons ever have an identical
command of their common language. Certainly, they have not precisely the same vocabulary. There are at least minor
differences in pronunciation, indeed the same individual will not pronounce his vowels and consonants in absolutely identical
fashion everytime he utters them. Everyone possesses, in addition, certain individual traits of grammatical form and
syntactical order, constituting that peculiar and personal quality of language which we term as style. 'Style is the man.' No
men are identical, no two styles are the same. If this be true of but two persons, the potential of differences resident in a
language spoken by more than 200 million truly staggers imagination.

Itemcode : EM1071
Q1 : The author argues that English is the closest approach to a world language because

(a) there are more native speakers of English than of any other language
(b) English has less number of mutually unintelligible dialects

(c) the geographical distribution of English covers a much greater area
(d) other languages are much too complex to be world languages

Key: A

Itemcode : EM1072
Q2 : The fact that the same individual will not pronounce his vowels and consonants identically everytime shows that

(a) literary style varies from person to person

(b) mutually intelligibility is a myth

(c) vocabulary varies from individual to individual

(d) no two persons speak the same language exactly the same way
Key: D

Itemcode : EM1073
Q3 : Itis evident from the passage that style is

(a) a strange type of language

(b) alanguage where one does not have to be particular about correctness and grammar
(c) language used in a particular way by an individual

(d) a question of grammatical and syntactic correctness

Key: C

Itemcode : EM1074
Q4 : According to some authorities

(a) more people speak Chinese dialect than English

(b) more people speak English as an auxiliary language than as first language
(c) more people speak English in the UK than in England

(d) about one-fourth of the world's population speaks English

Key: D

Itemcode : EM1075
Q5 : The overall implication of the passage is that

(a) to suppose that 230 million people speak English as a native language would certainly be an underestimate

(b) the 55 million inhabitants of the British Isles speak like the 30 million inhabitants of the dominions and colonies
(c) a little less than half the native English speakers in the world live in the US

(d) About one-tenth of the total English speaking world population lives in British dominions and colonies

Key: A

Itemcode : EM1061

Q6 : A man starts his morning walk facing East. He turns 25 degree in the anticlockwise direction and then 105 degree in the
clockwise direction and again 270 degree in the anticlockwise direction. Find which direction he is facing now?

(a) South west
(b) North West
(c) North

(d) East south
Key: A
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Itemcode : EM1062
Q7 : Statements: All the Engineers are Bachelors. All the Bachelors are Intelligent.

Conclusions:1)All the intelligent people are Bachelors.
2)All the Engineers are intelligent

3)AIll the Bachelors are Engineers

.4)Some intelligent people are Engineers.

(a) Only (1) and (4)
(b) Only (3) and (4)
(c) Only (2) and (4)
(d) Only (1) and (2)
Key: C

Itemcode : EM1063

fishes working 5 hours a day?

Q8 : 80 fishermen can catch 2000 fishes in 10 days working 6 hours a day. In how many days 20 fishermen can catch 3000

(a) 70
(b) 68
(c) 72
(d) 74
Key: C

Itemcode : EM1064

Q9 : A train 100m long travelling at 96km/hr. passes another train, which is travelling at 120km/hr. travelling in opposite
direction, in 8 seconds. Then the length of the second train is

(a) 300m
(b) 280m
(c) 200m
(d) 380m
Key: D

Itemcode : EM1065
Q10 least number must be added to 1056, so that the sum is completely divisible by 23 ?

(a) 2
(b) 3
(c) 18
(d) 21
Key: A

Itemcode : EM1066
Q11 Which of the following is a prime number ?

(a) 33
(b) 81
(c) 93
(d) 97
Key: D

Itemcode : EM1067
Q12 Odd man out: 7, 8, 18, 57, 228, 1165, 6996

(a) 8

(b) 18
(c) 57
(d) 228
Key: D

Itemcode : EM1068

Q13 0Odd man out:
445, 221, 109, 46, 25, 11, 4

(a) 221
(b) 109
(c) 46
(d) 25
Key: C

Itemcode : EM1069

Q14 Each question has an underlined word followed by four answer choices. You will choose the word that is a necessary
part of the underlined word.
harvest

(a) autumn
(b) stockpile
(c) tractor
(d) crop
Key: D
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Itemcode : EM1070

Q15 Each question has an underlined word followed by four answer choices. You will choose the word that is a necessary
part of the underlined word.desert

(a) cactus
(b) arid
(c) oasis
(d) flat
Key: B

Itemcode : EM1051
Q16 Which of the following measurements is not a unit of distance?

(a) Ammeter
(b) Cubit
(c) Parsec
(d) angstrom
Key: A

Itemcode : EM1052
Q17 Pitch of a sound depends upon its:

(a) Wavelength
(b) Frequency
(c) Amplitude
(d) Overtones
Key: B

Itemcode : EM1053
Q18 The 'Cannes Award' is given for excellence in which field?

(a) Journalism
(b) Films

(c) Economics
(d) Literature
Key: B

Itemcode : EM1054
Q19 Who amongst the following is the first Indian Woman Won Pulitzer prize?

(a) Arundhati Roy

(b) Kiran Desaiwrong

(c) Jhumpa Lahiri

(d) Manjula padmanabhan
Key: C

Itemcode : EM1055
Q20 When the World Population Day is observed?

(@) June 7
(b) July
(c) July 11
(d) July 28
Key: C

Itemcode : EM1056
Q21 The name of the Laccadive, Minicoy and Amindivi islands was changed to Lakshadweep by an Act of Parliament in

(a) 1970
(b) 1971
(c) 1972
(d) 1973
Key: D

Itemcode : EM1057
Q22 Abdul Kalam Azad became the President of India.

(a) 9th
(b) 10th
(c) 11th
(d) 12th
Key: C

Itemcode : EM1058
Q23 Supreme Court Judges retire upon attaining the age of
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(a) 65 years
(b) 62 years
(c) 68 years
(d) 70 years
Key: A

Itemcode : EM1059
Q24 When was the Rashtriya Swayamsevak Sangh built?

(a) 26 November 1935
(b) 15 August 1947

(c) 27 September 1925
(d) 26 January 1950
Key: C

Itemcode : EM1060
Q25 The first general elections under the Indian Constitution were held in

(a) 1948
(b) 1957
(c) 1952
(d) 1950
Key: C

Itemcode : EM1001
Q26 On the basis of Mobious-Huckel Method predict which of the following

cycloaddition reactions will be allowed under photochemical conditions.

CYR v . |
(b) [x2a+ nda]
(©) [s2etnZdl

(d) [2.+q4.]
Key: B

Itemcode : EM1002
Q27 Lo s - ;
: The molecules (1), (ii), (iii) are ) . ,respectively.

i (;i:) ii}@ i)

(a) aromatic, antiaromatic, antiaromatic
(b) aromatic, non-aromatic, aromatic

(c) 1aromatic non-aromatic, antiaromatic
(d) anitaromatic, antiaromatic, antiaromatic
Key: B

Itemcode : EM1003

Q28 The maximum number of stereoisomers possible for the compound given below is

Me
i 0
8 e
Me MNO;
(@) 1
(b) 2
(c) 4
(d) 0
Key: C

Itemcode : EM1004
Q29

localhost/GpscQpgrid/DispQSet.aspx

4/18



10/11/2020 .. GCBT Online .:

The IUPAC name of the compound given below is
]

' COgE

<

(@) (R)-Ethyl2-methyl-4-oxocyclohex-2-enecarboxylate
(b) (S5)-Ethyl 2-methyl-4-oxocyclohex-2-enecarboxylate
(c) (R)-4-Ethoxycarbonyl-3-methylcyclohex-2-enone

(d) (S)-4-Ethoxycarbonyl-3-methyleyclohex-2-enone
Key: B

Itemcode : EM1005
Q30  Among the following compounds out a pair of [a] enantiomers and

[b]ldiastereomers are and , respectively.
s, O H OH NH, COOH D
g " H——NH, HoN7 ™ H
iy i iif} W)
NHz COGH OH &
CH;

() [a] (i) & (iii), and [b] (i) & (ii).
(0) [a] (1) & (iv).and [b] (i) & (iid),
(c) [a] (i) & (ii). and [b] (i) & (iv).

(d) [a] (1) & (iv), and [b] (ii) & (iii),
Key: C

Itemcode : EM1006
Q31

The product(s) [inFischer projection formmla(e)] of the following bromine
additionreaction with correct configuration is

H H

- Brz / CCly =
A

HaC™ HH

G
H—oH H—oH

(CBr—2H + H—{2Br
© Br—PH Hr
3 CH;

both in equal amourt

CHs CHs

H—Pon uLon
OH—Z8r * Br ,R?H

@ g W
CHa CH3

bath in equal amaount
Key: D

Itemcode : EM1007
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Q32
The product of the following reaction is
COOEt 1. Maftoluene
—_—
[DDDEt 2 H0

CH,0H

(a) [CHZDH

COCH

® | coon
0

© E/Ej
H

(d) Mo reaction

Key: C

Itemcode : EM1008

933 The diene and dienophile required to synthesise the compound given below are:

CHa

J

TOOMe

(a) 1.3-butadiene and cis-CH:CH=CHCOOME:
(b) 1.2-butadiene and cis-CH:CH=CHCOOME;
(c) 1,2-butadiene and trans-CH:CH=CHCOOMe;

(d) 1.2-butadiene and trans-CH:CH=CHCOOMe.
Key: D

Itemcode : EM1009
934 An unknown compound Z has molecular fornmla CoH;: 0.

1500, and 1100 el

The 'H NMR spectrum of Z is summarized as:
2.6 ppm, triplet, 2H;

3.3 ppm, singlet, 3H;

3.5 ppm, triplet, 2H;

7.1 ppm, singlet SH.

Based on this data the structure for Z is

The IR spectrum of compound Z has its most important absorption bands at 1600,

(a) PhCH,OCH;CH:
(by PhCH;CH;OCH;
(©) PhCH,CH,COCH;

(d) PhCH;COCH:CH3
Key: B

Itemcode : EM1010

935 The major product of the reaction between dimethyl carbonate (Me;COs) and
' excessof MeMgl after acidic work-up will be

(a) MeCOOMe

0
(b) Me-C-Me

Me
c - OH
© me e
(d) Me—Me

Key: C

Itemcode : EM1011
Q36
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In the following sigmatropic rearrangement the structure of the allene formed and
its configuration are

PhMEt;
o

F*h“'\ﬁ
e

(optically pure)

oH
(b) ME___ p
F'hf_ H
OH
o n (3
"._C R
I'I.-'Ie[_ H
FPh
(d) "~—C=< i 5
ud 'y OH
Key: D

Itemcode : EM1012

?37 What is the major product ofthe following reaction?
= Heat
= W,
MeDOC
@ E?
TOOMe
o
“COOMe
i
() e
“COOMe
R
(d)
“COOMe
Key: B

Itemcode : EM1013
Q38
In the following reaction, predict the major product: (sb)

P
1.0 equiv.PhCHO i

DABCO, THF

OH O 0 0 OH
Fh )\’-(U\OME /ﬁk@h\te /Cjeme /Coue
Ph* "OH Ph Fh H
1 2 3 4

@ 1
(b) 3
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(c) 4

d 2

Key: A

Itemcode : EM1014

Q39

The structure of the compounds formed in the following reaction

a
@ (i) NahH

~,

N
(b) [@ |

N

\
(©) @—@

N

Y

.-F’N /

Key: A

Itemcode : EM1015

?40 The major product formed in the reaction given below is
C[:>_,NH2 NaNOy/ ag HCI
0-5°C
MOz

(b) Oi>_/DH
o CIL

MOz
o (L

OH
Key: D

Itemcode : EM1016

Q41 . . o
: Structure of compound A in following reaction is
cl
° 0 (CHibNH ()LiAH,  Mel _ Ag0 _ ,
EXCESS  (jiH,0  (excess) 4
cl '
0
HooC eIt
(a)
COOH
HO o
(b)

CH
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Key: C

Itemcode : EM1017
Q42 predict compound Dand E in the following reaction

o

F'h—p MHzMNHz HMN O
Phthalimide_foH " — . B ca: m B E

(a) 2-amino-1-phernylethanol and 2-phenylacetaldehy de respectively

(b)  1-amino-2-phenylethanol and 2-phenylacetaldehy de respectively
(c) Zamino-1-phenylethanal and acetophenone respectively

(d) t-amino-Z-phenylethanol and acetophenone respectively

Key: A

Itemcode : EM1018

Q43 Consider you were asked to reflux a part of the benzil synthesized by you

' with dibenzyl ketone (PhCH;COCH;Ph) in alcoholic KOH. What product
you would expect to obtain?

Fh
Fh
) K}D
Fh
Fh
Ph
- Fh
(®) I“}o
Fh
o
Ph
Ph
(C) i (8]
o
Ph Ph
Fh
Fh
(d) :Q:c:
Fh
Ph
Key: A

Itemcode : EM1019
Q44 The major product X formed in the reaction given below is

OH
r"i“‘- OH 2, 2-dimethoxypropane -
LH__ OH PTSA (cat)
oH
oH
e JOH
(@) | )\D
0.
!
oL
,-*"-‘a ~‘b
®) [y
oH
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—OHy
(d) g g
.

Key: B .

Itemcode : EM1020

?45 The CBS (Corey-Bakshi-Shibata) reagent is used for

(a) asymmetric hydrogenation of alkene
(b) asymmetric reduction of ketone

(c) asymmetric epoxidation of alkene
(d) asymmetric formylation

Key: B

Itemcode : EM1021

?46 Identify the correct product for the following transformation

CHO

1 equiv.
DIBAL-H, THF 3

CHLOH

" G5
[

CHOH
-
:
cHo
(©) 1(;1@
Th
coun
- gt

Key: A

Itemcode : EM1022
Q47 The starting materials of the following DA productis

Ph
.. COOEt
COOEt
Ph
Ph
COOEt
= and
(a) [
T COOEt
Fh
Ph
COOEt
(b) ﬁ"’/ and [
. -Ph COOEt
Ph COOEt
(C) =" and ||
Ph
= COOEt
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Ph cookt
# and |‘|
(d) q
COOEt
Ph
Key: C

.. GCBT Online .:

Itemcode : EM1023
Q48

P
Cﬁj 1) 1( HyC=CH)CulLi
2) CHyl
H

Predict the major product of the following reactions.

.
H Y _OMe
(a)
H

TH
L
;0
-
OMe

ges

Key: B

Itemcode : EM1024
Q49 ; :
: The product of the following reaction is
S
e B

CH3

The product of the following reaction is
(a) NOz  Ticl

_— 7

CHz

The product of the following reaction is
(b) NOz  Ticl

_— 7

CHz

The product of the following reaction is
(c) NOz  Ticl

_— 7

CHz

The product of the following reaction is
(d) NOz  Ticl
N
CHz
Key: D

Itemcode : EM1025
Q50
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Find the final product of the following rearrangement reaction:

g

reflux

(a) H\D
oH
|
oH
]
@ \Evj/l\;

Key: B

Itemcode : EM1026

51
? . Which of the following m-electron energy levels is the lowest in energy in benzene molecule
as per Hiickel theory?

(a) o-—

Itemcode : EM1027

952 Among the following compounds, which are aromatic in nature considering the Hiickel
’ nule?

|
N, N 0 o,
of N o [N] ) [3] w [
I

(a) (1) and (1v).
(b) All four
(c) {11), (111}, (1v)
(d) Only (i)
Key: A

Itemcode : EM1028

Q53
Predict the correct statement for the compounds as aromatic, antiaromatic, nonaromatic.

& b
' LD 1 CD 0 O
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(a) (&) antiaromatic, (b) aromatic, (c) aromatic, (d) aromatic

(b) (a) aromatic, (b) aromatic, {c) aromatic, (d) antiaromatic

(c) {(a)aromatic, (b) aromatic, (c) nonaromatic, (d) antiaromatic

(d) (a) aniaromatic, (b) aromatic, (c) aromatic, (d) antiaromatic

Key: C

Itemcode : EM1029
Q54 g s 2 : 2 : g i
. An enantioselective reaction predominantly yields (+)-2-bromobutane with 10% contamination
of (—)-2-bromobutane. If the specific rotation of (—)-2-bromobutane is —23.13°, the observed
specific rotation of a sample of the product mixture would be

(a) —20.8°
(b) +18.5°
(c) +20.8°

(d) -4.46°
Key: B

Itemcode : EM1030
_st The absolute configuration of the following molecule is

H cl

SMe

(a) 2R3S
(b) 2R3R

(c) 253R

(d) 2838
Key: B

Itemcode : EM1031

Q56 . -

. The IUPAC name of the following molecule is
Br.

e/ Ry

Br

(a) (3Z,6E 2R 55)-2, 5-Dibromo-3-ethvl-7-methyl-nona-3,6-diene
(b) (3E,6Z.25358)-2,5-Dibromo-3-ethyl-7-methyl-nona-3, 6-diene
(¢) (3Z.6E,2S.5R)-2,5-Dibromo-3-ethyl-7-methyl-nona-3,6-diene
(d) (3E.6Z.28,5R)-2,5-Dibromo-3-ethyl-7-methyl-nona-3,6-diene
Key: D

Itemcode : EM1032

Q57
The following compounds I & IT are

Br CH-CH,

H CH:CH: B H
Br——CH:CH: H——CH.CH,
H r
l [

(a) identical molecules,

() 4 pair of enantiomers,
(c) apair of diastersomers,

(d) constitutional isomets.
Key: C

Itemcode : EM1033
Q58
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Ina 300 MHz 'HNMR spectrum, an organic molecule exhibited a doublet for a methyl group.
The two lines of the doublet appeared at & 2.154 and 2.187 ppm. The coupling constant (.JJ) value
is

(@) 7.6Hz

(b) 8 4NHz
(c) 2.0Hz
(d) 10.3Hz

Key: C

Itemcode : EM1034
Q59 An organic compound exhibited the following spectral data:
IR 1760 em-1

IHNMR: & (ppm): 7.2 (1H. 4, 7= 16.0Hz), 51 (1 H.m),2.1(3H, 5), 1.8 (3H, d, 7= 7.0Hz)
I3CNMR: 3 (ppm): 170 {carbonyl carbon).

Compound 1s
o
(a) /H\DME
Me
o
(b) jlrﬂe
Med
() jDWME
Me 9
0] Me
(d) |
LY

Key: C

Itemcode : EM1035

960 The optically active compound (CsH;)CH,CH; CH{OH)CH,;CH; in its pure dextrorotatory
() form has +26 8" specific rotation and observed specific rotation for a sample of certain
concentration (in g'ml) is +11.6° The % of 4 and % of levorotatory (/) forms in the sample
are, respectively

(@) d=52%and /=48 %
(b) 4=716%and/=284"%
(c) d=284% and 7 =71.6 %
(d) d=20% and /=280"%
Key: B

Itemcode : EM1036
96 1 The base catalyzed hydrolysis of ethyl m-nitronenzoate is 63.5 times faster than the unsubstituted
| ester under the same conditions. What will be the rate of hydrolysis (i) of ethyl p-

methoxybenzoate under the same conditions? [given Gyae0=-0.27. Guwo2=0.71]

(a) 12 times faster

(b) 51 times slower

(c) 5 times slower

(d) can’tbe determined from the given data
Key: C

Itemcode : EM1037
Q62 The potential energy difference in the two chair conformations of frans-2-cis-4-trimethyl
: cyclohexane (Y) in keal'mol is [Given that each gauche butane interaction cost 0.9 Kcal/mol]

Me

94

Me
b

Me
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(@ 0
(b) 0.9
(c) 27

(d) 3.6.

Key: B

Itemcode : EM1038

963 Among the following compounds, the one which has the highest dipole moment is

Key: B

Itemcode : EM1039

964 Rank the following compounds from fastest to slowest in terms of their reactivity towards
SN solvolysis with methanol.

Ts0 Ts0 T=D TsO
EEL iJ h
OMe
OMe M2

I I 1] v

(a) I=II=NI=1V

(b) IV=IIT=II=1
() II=IV=II=-1

(d) II=I=I11=IV
Key: A

Itemcode : EM1040
Q65 For the given reaction A= 2B — C, when 0.15 g of A is allowed to react with 0.15 g of B
to give 0.20 g of C (Mol. Wt of A, B and C are 148, 110 and 332 respectively), the % yield will
be

(a) 60%
(b) 48%
(c) 95%
(d) 88%

Key: A

Itemcode : EM1041

Q66  The aldol reactions between acetophenone and the following aldehvdes follow different reaction
rates. Choose the right option.
1) Benzaldhyde, ii) p-Nitrobenzaldehyde, 111) p-Methoxybenzaldehyde, 1v) formaldehyde.

(a) iiiviii>iv
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(b) iii=i=ii=iv
(c) V=111
(d) v=li=i=il

Key: D

.. GCBT Online .:

Itemcode : EM1042
Q67

Choose the right sequence of the increasing order of reactivity towards CH:MgBr.

¢ 9 ey

v

(@) I=IT=-IT0=-1V
(b) TMI=IT=1=1V

(©) I=I=II=IV

(d) II=T=IW=II1.
Key: A

Itemcode : EM1043
Q68  The final product of the following transformation is

1. NaQEt (1.1 equiv) Mel
anmcjxvjjcooa it 2t
2. NaOH, EtOH-H,0
1 A
0
@) f COOH
0
(b COOE
Me
0

0
(d) [f;—CDDH

Key: C

Itemcode : EM1044

?69 The major product of the following reaction 1s
NaMO,/HC!
SRS Tt g
0-5°C

(@) 'E=Z%o

i OH
(b)
© E}E’HD
@) £=LpH
Key: C

Itemcode : EM1045
Q70
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The most suitable reagent(s) to effect the following transformation is

o e

(a) MN:;H. KOH, heat

(b) TsNHNH,, CF;COOH
(c) LiAlH,

(d) Na, Lig. NH;
Key: A

Itemcode : EM1046
971 For the following transformation choose the best reagent from the list:

CH,0H

CHO
Y —£r
0 OH

(a) LiAlH,
(b) MnO:

(c) DIBAL

(d) CeCl;-NaBH:
Key: D

Itemcode : EM1047
972 (Q22. The major product and the right choice of the structure of the given catalyst for the
following reaction are

O wilkinson's catalyst
—_— -

Haz

O
. RH[CCDHPPha):2

(a)

o
. Rh[CODHPPhak

(b)

aSebaty

, RhC{PPhs)3

(©)

273

o
(d) . RhCHFPhy )3

2%

Key: B

Itemcode : EM1048

Q73

: (Gas phase irradiation of 2-pentanone produces acetone and ethylene in gbout 90% vields
via mechanism.

(a) NorrishI

(b) Norrish II

© photoreduction
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(d) Photo-Fries rearrangement

Key: B

.. GCBT Online .:

Itemcode : EM1049

]

s~ = D)

Q74  The following reaction is an example of

(a) Cope rearrangement
(b) Claisen rearrangement
(c) 4m electrocyclic reaction

(d) [2,3]- sigmatropic rearrangement
Key: A

Itemcode : EM1050

Key: C

Q75 1dentify X and Y in the following scheme:
S, 3-BBN (1 equiv) y He02.NaOH
Ph Ph o
(@) X= = ¥ = Phye P
H B8N 0
0
Ph  EBBN
(b) yx= = e
X= J7%, Y=Ph
0
Ph  Ph
() x= = Y = ppte.Ph
H BBN
Ph  BBN P H
d) X= 3= Y= =
@ x= = B
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